CONCEPTUAL TOOLS By: Neil E. Cotter CIRCUITS

V AND I DIVIDERS
Current divider
EXAMPLE 1

EXx:

Calculate 1.

son: We have a current divider consi,s—ti.n3

of +the 160 uA gr¢e and +he 68k and
12 K& resistors.

L| = 160 /M.A . 12 k._f_L
12k A+ 68 kS

I

160 WA - 2k
80 kL

L, = 2k _uA

Nete: The 12ksL and 68BkSL resistors
are parallel since -the)/ connedtedl
\o)f wires at eitther end.

We know -the +total current
‘Flow‘mj inte the [12k51 and ¢é8ks
resistors, and +the resis+tors

have +the same VO.H:age across
them,



